IE ¥
z 3= A — :é — 7‘ 4 3
I8l BEXAT—Y / T=TWVHLX 160%X160
= [ - - .
4  Motorized X Linear Stages / Table Size 160x160
4
o5 5
SE
SR g
SHl <
g,_" 7]
> X 5
%X
=~y B
Y &
A
Z
8
Z
N 7/ g
o
S XA16F-L21 XA16F-L22 XA16F-L23
(9]
I3
®
3|
g &
g (393) (493)
=)
18] ;2 - (96) _(70) L 100 T(67) st (96)  (120) N 117)
= _\+$\vv > o1 4] © [ee o ofp ¥ 4
bl
3 Fs g o g
£ g 1oy = 8 ? )
&~ - bIUTo «
E ) | - L =
= 5 B e +I 3 S S I
= .
7 § 50|50 |20 =~ 10-M5 Depth 12mm /20| | 50 |50 | | 20
é N
& " Option Table ccW  Cw 1 Option Table ccw  cw
_ «— —> — —>
% I E— ] I E—|
i E{:{ﬂ_H
Z Srﬂ_ﬂ\" / ?\\'\” sl e R\ \)K °\I
T CCW Limit Sens! \_Home Position CCW Limit Sensor \ Home Position/ \CW Limit Sensor
4 CW Limit Sensor
=
g. #2 4-for M6 screws (M8 tapped hole) (75) | 250 - 72
) #2. 1 for M6 sorews (M8 tapped hole) (50), 200 AT Shaft length 18mm \ \
3 Shaft length 18mm | | DR v e »
2 = 3 . o
q:? * * + EZ 5@ g 8
=E EH oo Back Side ©15 Depth 12mm /" <
N <| O
g!ﬁlﬁ Back Side ofhghizm /T < " o ...
55 o b v o o 12forM5sorews | 410 30| 80 [30] 110 | |17
* #1 ‘ ‘ ‘ ‘ Shaft length 18mm
O XA16F-L21  _SforMSscrews /| 60 | 140 60 | |17 @ XA16F-L22
Shaft length 18mm
® 2
=%
N (603)
= 65, 11 s = .
= ? . &'T (96) (175) | 160 | (172) FIvavsF—JIb
% = I TS P s Option Table
| 5t 6 -for M5 screws
| | \ =1 oL B SIS 70 70
H <
E % o ‘ § 5 Shaft length 5mm F—N—/lw
-
3/( } hd e, 7 @ 4-M3 Depth 8mm
L T o 12 e oF . .
= — ] ololo I: *
= ] 312Sglglel L— - — 8M4 Depth 11mm
3 ] 10-M5 Depth 12mm 20 | |50 50| | 20 B IR A — -.7 4-M5 Depth 11mm
e ~I" Option Table CCW CW o ,‘»'//
o = «— —> <
(= © o
S ; — I ——— 1 40
%) _ 60
£} ST . L A .
@ 4 110
CCW Limit Sensor \ Home Position CW Limit Sensor 140
% 8 iEIJ o 160
2= % 8-for M6 screws (M8 tapped hole) ~ (55) 100 200 100 52 @ O0TX160-K ¥12,000
S<E Shaft length 22mm ‘ } } ‘
& 2 & L3 L3
i i i : @ 0TX160-M6 ¥ 12,000
= —%H 3 2 6 -for M5 screws 70 70
z7 Back Side ©15 Depth 15mm __/ = = Shaft ength Smm e
37 [ ®lg
@ -tﬂz_ #1 o o ¢ ° o P’ & =
3 8-for M5 screws 140 140 140 42 Q
g @ XA16F-L23 g length 21mm W [ l l ) . T
I g o —t—1g
S — s = 9-M6 Depth 11mm 3
#1 KAPSAT—IZRIMHIBEIEMEAEBARER ) ET, o . °
2 {g Through hole for M5 screw mount from upper side. Lo i 6|8
=+ T —_ ~ — ~s
g3 ) EAPSAT IR FTBRIEMBE Y TRERY) FT, 11 B0 50 | 50 &0
g ; Tapping hole for M8 screw mount from back side. 160
I

H-034 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL]http://www.kohzuprecision.com



MR

letsnpu

%/ VThHAK / F=zxo .

Steel Body / Linear Guide / Ball Screw

2
2
.
I
2
[=]
=]=]
(%]
<
123
a8
@
=
o
3
o
Q
c
Q_
12

=S
T 38
Model Number XA16F-L21 XA16F-L22 XA16F-L23 g- A
BFEEORK =l
Rl R eatell MUl *1 XA16F-L21-R XA16F-L22-R XA16F-L23-R 2
F—7I)VE
Table Size 160mmx160mm F =X
ETES WEI=FHAN b =X
Guide Mechanism Linear Guide = Y
A
B +50mm +100mm +150mm Z
Motion Range 1§
AR AR—=ILx, J—K 5.0mm A
Lead Mechanism Ball Screw, Lead 5.0mm § 74
TWIN=T ATvT 5
SHRRE o | Full/Half Step st 0
Resolution ™ | v440257v7 (1/2058) B ®
Micro Step (1,/20 div) =U
RERE
Maximum Speed S0mm/sec § ﬁEIfi
RN B - s
Accumulated Lead Error =15um/100mm =20um/200mm =20um/300mm g
R U EIROIEE <
Repeatability =30.5um
OANE—3> %)
Lost Motion =5um é ?
o N
KFE <44m/100mm <5um/200mm <5um/300mm EPS
HEE Horizontal = = = E 5
ioh =
Staightness o <441m/100mm <5um/200mm <5um/300mm 7
NIy =
Backlash =2um
F—XUMHE .
Moment Load Stiffness ~ 0.02 arcsec/N-cm
KR
Load Capacity (Horizontal) 392N (40kef)
e (=TI TIIER)
Material Steel (Table: Aluminum Alloy)
S8 2tk
Finish Matt Black
BE
Weight 11.5ks 13.5kg 18.2kg
SHRFYESIE—8— PK566-B (UYL E—&—: EA&EH 0.75A/18,BART Y7 0.72°, U—Ki107%) g
5 Phase Stepper Motor PK566-B (Oriental Motor: Phase Current 0.75A, Basic Step Angle 0.72°, 10-Leads) al L
EEYZ: &M20E> (EO+t: PC-1620, P-1620A-STA) s
Connector 20Pin Rectangular (Hirose: PC-1620, P-1620A-STA)
AT —IHEHREAT 0 X1 RRBBOBIC. 58l (F—& L) 3 ZFBL TOET  CWHRIERHE.
Stage Wiring Type X1 Returning direction is determined with zone sensor. CW side’s light is intercepted in all time.
T EIRER -
Sensor Model F104 (LIMIT), F105 (HOME), F107 (INDEX) 5 i
fife L
Price(JPY) ¥360,000 ¥390,000 ¥420,000 = g
F—N—F— B - - - -
Gzl Fiigs > 2 ¥60,000 ¥72,000 ¥84,000 >
IV—=2J) AR E =
Clean Room Lubricant Change Price e ¥48,000 ¥54.000 ¥60.000 g
HRIUARBE i<
Vacuum Lubricant Change Price = ¥48,000 ¥54,000 ¥60,000 z
|
R E—4—SH0E N B
Same Size Motor Change Price e ¥15,000 =
BERE—S—BE - Em
Different Size Motor Change Price < ¥36,000 § A
2
BFEVICDVWTIFEH-005X—2 BB L TR, =20 AEEROBRIIKREIC -C" HEEET, FEHICDOVTIE Ong&'/
Refer to page H-005 for Information on Standard and Mirror Symmetry %6 C-005XR—=T&aBRBLTTFX0, @©
Configuration. Clean room lubricant model has “-C” at the end of model number. Page C-005
wp AT—VDBREBN-TAFY T THI>THYET. for further information. ool
"~ Stage is inspected by half step setting. B2 AEHROBREIREIC V" PHEFT. FMBICDLTIXC-005N % % g
. S XY MDA S T w7 —VEBBLTTAL. ST E
*3 XAF—IREOT—X > MEEI VAL LY &5 7 Vacuum lubricant model has “-V” at the end of model number. Page C-005 for ? =

Moment Stiffness of single X stage is measured in Roll Direction.

AT —IAEROFEMIC DN TIEM-028~M-034X—2 BB L TTF X,
Refer to page N-034,N-035 for stage wiring connection information.
F—N—FR—VEICBEBAREEENELA, FERICOVTRIIER—%
x5 BBLTFEL,

Additional parts cost is not included on Overhaul cost. Refer to page 16 for
further information.

further information.

E— R —HADFHMIC DV TIEC-004X—T 7 BB L TFEL,
Page C-004 for further information about motor change.

%4

=
=
¢ %
S
o !
%

MIETHE—R—a> hO—F - RIANCDVWTEN-002X—2%BRLTFEN, FIEYIIZDVTIRO-001RX—=2Z2B8BLTTEL.
Refer to page N-002 for information on corresponding motor controller and driver. Refer to page 0-001 for information on accessory. —

o M BE—S—r—TIITOVTIN-018R—IEBRLTF AL BERO BRI LU RROBEEEKYET. 73R
Refer to page N-018 for information on corresponding motor cable. FHLLIIEEBETBRVEDET X, g
XY TOMAFTE THELEORRIE. BEBETHHOEHDE TN, We appreciate the product customizing. Contact us for further information. §‘ A

° About the XY assembly for these stages, contact us for further information. Z

H-035

BREAVLADEIE*TEL:044-981-2131,/FAX:044-981-2181 [E-mail]sale@kohzu.co.jp [URL]http://www.kohzu.co.jp



